
 

JEEP PROPANE MOUNT JK AT918 

2007-2011 

INSTALLATION INSTRUCTIONS 



Step 1.   Mark first hole by measuring up 1-1/2” from the bottom edge and 1-1/2” from the rear window lip of the hard top.  

 Mark second hole 8-1/2” from the bottom edge and 1-1/2” from the rear window lip. 

 

 

Step 2.   Drill first and second holes with 1/4” drill bit and then enlarge with 1/2” drill bit. 

 

                                                                                                                               

                                                                                                                               1-1/2” 

 

                                                                                                                            

 

 

                                                                                                   

                                                                                                 8-1/2”   

 

                                                                                                                          1-1/2” 

                                                                                                                             

 

                                                                                                                      1-1/2”      

 

This kit includes: 

 One propane mount bracket part # JK AT918 with six 1/4-20 rivnuts installed 

 Two 5/16 Rubber bumpers 

 Four 1/4-20 Rubber well nuts 

 Four 1/4-20 x 7/8 Stainless Steel button head bolts 

 Six 1/4-20 x 5/8 Stainless Steel button head bolts  

 Ten 1/4” Stainless Steel flat washers 

Tools needed: 

 Tape measure 

 Drill 

 1/4” Drill bit 

 1/2” Drill bit 

 5/32” Allen wrench 

 Sharpie 



Step 3.   Insert rubber well nuts in both holes. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 4.   Hold the propane mount up to the hard top on top of the first two rubber well nuts to mark the third and fourth holes. 

 Insert bolts into the first two well nuts loosely then tip the mount out 3/16” to mark the third and fourth holes. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Step 5.   Drill the third and fourth holes 1/4” and then 1/2” as before. Insert the two remaining well nuts. 

 

 

 

 

 

Third and fourth holes 

 

 

 

 

 

 

 

 

 

Step 6.   Install mount with 1/4-20 x 7/8” bolts and Stainless flat washers. Tighten enough to fully expand well nuts. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


